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.5=10,60° 180°300°] .6=[60°90° 120°, 240°, 270°, 300°]

1 5 1 5
A=|"n+2nn,-n+2nmn 2=|"n+nn, - T+NT

3 3 6 6
AnsS = 1 1 )
.3:[2nn,5n+2nn,n+2nn} .4:{gn+nn,gn+nn}
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TrigonometryExercise6 Answers for No.11408
A= 2= a M
6 3

[n S5n 375} i
‘2: _7_’_
6 6 2

8
T Sw 3m
Ans2=1.3=|0,—, —, = 4=|—
6 6 4

m s }

T nn St 7n 3n ll=n
5: 09 Q_DTE ’6: _9_9 2 b b
L 6 6 62 6 6 2 6
M @
Ans3:[ I=[] 2=[30 ]} |a M
3=[0,45"] .4=[0] t U
h T
.1 =10,60° 300°] .2=[120°180° 240°]
Ans4=|.3=1090°120° 240°, 270°] 4=[315°]
5=[0,45° 180°225°] .6=[0,30° 1500,1800,2100, 330°]
1 2
.]=[—n+2nn n+2nn} [ T+nm, n+nn}
3 3
AnsS = )
3=[2nmn,n+2nm] 4= {3n+nn,gn+nn}
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TrigonometryExercise6 Answers for No.11560

M @]
n a M
AnS]: ]:[] 2:|:3i|, 5 t U
3=[0] .4=[0] h T
_ :) ) _
{n 5w } T S5®. }
=|—,m, 2=10,—
3’ 3 L '3 3
n 2w 41 3m 3n
Ans2=\3=|_,——, ., =|—
23 32 4
T 27 4TC 5n
52[0,75] 6 0 - s s
L 373 3 3 1
M @
Ans3:[ 1=130'] .2=[300]}, |a M
3=[0,45"] .4=[30"] t U
h T
.1 =[90°210° 330°] 2=[120° 180°, 240°]
Ans4=|.3=1[60°90° 270°, 300°] 4=[315]
5=1[45°90° 225°270°] .6=[60°90° 120°, 240° 270°, 300°]
1 5 1 5
.]={—n+2nn,—n+2nn} .2={—n+nn,—n+nn}
3 3 6 6

Ans5 = 1 5 1 )
.3:[2nn,—n+2nn,n+2nn,—n+2nn} .4:{—n+nn,—n+nn}
4 4 3 3
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TrigonometryExercise6 Answers for No.11806

n M @]
2= ; a M
Ansl— , 1t U
i
T
: 8 L) o))
Tc St 3m T 5T
1= — 2=(0, 75
6 6 2 | 373
T Sm i
Ans2 = .3:[0,—,— T .4:[—}
6 6 | 4
T nnSn 7n 3n 1ln
S=10,—" = O=|—",, , \ \
L 2’ 6 2 6 6 2 6 1
M @
Ans3:[ I=[1 2=[30 ]} a M
3=[0,60"] .4=[0] t U
h T
1 =10,120° 240°] .2=[210°,270° 330°]
Ans4=|.3=1090°120° 240°, 270°] 4=[135°]
5=10, 180°] 6=10,60° 1200,1800, 240°,300°]
1 5 1 5
A=|"n+2nn,-n+2nmx 2=|"mn+nm, " T+NT
3 3 6 6
Ans5 =

1 5 1 2
.3=[‘n+2nn,—n+2nn,—n+2nn n+2nn} .4=[—n+nn,—n+nn}
4 2 4 2 3 3
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TrigonometryExercise6 Answers for No.12219

n M @
1=]1] 2= g a M
Ansl = T3 21t |t U
3:{—,—} .4:[—} h T
_ 8 8 8 )] )
{27: 4n} [ 2n 411
I1=|— n— 2=|0,—, —
3 3 33
n 27T 4n 37 Tr
Ans2 = .3:[_,_,_,_} 42{_}
273 372 4
T 27 4t Sn
S=[0,7] 6=0,—_, , T, s
L 373 3 3 1

M @
Ans3:[1=[600] .2=[600]} |a M
3=[45°] 4=[45] t U
hoT
1 =[60°, 180°, 300°] 2=10, 60°, 300°]
Ans4 =| .3 =[60°, 90°, 270°, 300°] 4=1[45°]
5=10,30°% 150°, 180°] .6 =[60°, 90°, 120°, 240°, 270°, 300°]

1 5 1 5
A=|—"n+2nn,-n+2nmn 2=|"n+nm, - T+NT
6 6 6 6

Ans5 = 1 5 1 5
.3:[2nn,—n+2nn,n+2nn,—n+2nn} .4:{—n+nn,—n+nn}
3 3 6 6
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TrigonometryExercise6 Answers for No.12954

n M @]
1=]1] 2= ? a M
Ansl = T 3 <1b 1t U
3:{—,—} 4:{—} h T
] 8 8 8 ) ] ]
2 4n T T oS®
]: 05_7_ 2: _7_7_
33 6 2 6
Tn 1l=n oI
Ans2=|.3=|0,m,—/, A=
6 6 4
oI 51 nw 2t 4n 3w S®w
5= 0,_,7'5,_ =l 54 ) D )
L 3 3 3’23 3 2 3 ]
M @
Ans3:[1=[60] .2=[600]} |a M
3=[0] .4=[30"] t U
h T
1 =[210°270° 330°] .2=[30°150° 270°]
Ans4=|.3=1[0,30° 150°, 180°] 4=[315"]

.5=10,90° 180°] .6=10,60° 120°, 180°, 240°, 300°]

1 5 1 5
A=|—"n+2nn,-n+2nmn 2=|"n+nm, - T+NT

AnsS 6 6 6 6

1 5 1 2
3={2nn,—n+2nn,"wm+2nn,t+2nm| 4=|"N+nn, T T+ANT

6 6 3 3
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TrigonometryExercise6 Answers for No.12964

[ @]
d=11] 2= ; a M
Ansl = , 1t U
T 37
-3{5’?} N
— __ _) )— -
T T Sm T 4m
1=|— — — 2=|0,— —
62 6 L 3 3
T Sm i
Ans2 = .3:[0,—,—,71} 4= —}
6 6 4
T Sm T S5m Tn 1lx
5: O,_,_,TC 6: Oa_a > T, s
L 6 6 6 6 6 6
M @
Am3:{1=[&2] .2=[y)3} |a M
3=[45"] .4=[22.5"] t U
h T
1 =[120° 180°, 240°] .2=[60° 180°, 300°]
Ans4=|.3=1[90°120°, 240°, 270°] 4=[315°]
5=10,180°] .6=[30°90° 150°,210°, 270°, 330°]
1 5 1 5
.]={—n+2nn,—n+2nn} .2=[—n+nn,—n+nn}
6 6 6 6

Ans3 = 1 1 5 3 1 5
3=|"m+2nn, " m+2nw, " n+2nn, " n+2nn| 4=|"n+nw,-n+nmn
2 4 2 6 6
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TrigonometryExercise6 Answers for No.12971

1=]1] 2= ? a M
Ansl = - <1b 1t U
'3:{0’2} .4:{g} h T
- =)
T 5n 27 41
I=|—",mn,— 2=|"—",m,
L3 3 3 3
T 3t S5k RE»
Ans2=|3=|—",—",~——, 4=|—
3’223 4
i 5n T2’ 41 S7
'5: 05 _7 Tcﬁ_ 6: 07 _’ 7Tc9 b
L 3 3 373 33 1
M @
[1=[60°] 2=[60°]} a M
Ans3 o ) )
3=[30"] 4=[0] t U
h T
1 =[30°90° 150°] .2=10,120° 240°]
Ans4=|.3=1090°120° 240°, 270°] 4=[315°]
5=10,45° 180°, 225°] .6=[0,30° 1500,1800,2100, 330°]
1 5
.]=[—n+2nn n+2nn} [ n+nm,— n+nn}
6 6
AnsS = 3
3=[2nmn,n+2nm] 4= {4n+nn,zn+nn}
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TrigonometryExercise6 Answers for No.13023
Ad=|"T"1 =" a M
~ 6 6

nm 271 4n 37
Ans2 =| .3 = 5, ,

6—{££ 2n 4 3w 575}

5:[0,71:] 5 A 5 > >
L 3’223 3 2 3
M @
Ans3=[ ']:[]0 2=100 ]}, ) a M
3=[0,60°] .4=[0] t U
h T
1 =160°180° 300°] .2=1090°210°, 330°]
Ans4d=| 3= [0, 300, 1500, 1800] 4= [3150]
.5=[45°90°225°270°] .6=0,30° 150° 180°, 210°, 330°]
1 5 1 5
.]=[—n+2nn,—n+2nn} .2={—n+nn,—n+nn}
3 3 6 6

Ans5 = 1 5 1 5
.3:[2nn,—n+2nn,n+2nn,—n+2nn} .4:{—n+nn,—n+nn}
4 4 6 6

X [Page = 0025] XXXXXKXXXXXXXXXXXXXXXXXXKXKXXXKXKXKXXXKXKXKXXXKKKXKXXKKKKKXKKKKXKXKKKX KKK KKKK KX KKKK KX KKKX KKK KKKKXKKKKKXKXKKKKKX



X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXXXXXKX XXX KKK XKLL XKL XKL LKL KKK LXK KKK XKL KKK K KKKKKKKKKMS /1-6600306-00026XX

TrigonometryExercise6 Answers for No.13033

n M @]
1=[] 2= g a M
Ansl = <1F 1t U
3{0’1} 4=H "
_ ) o]
T 5w T T o5®
Rkl B b
3 3 6 2 6
nnm3n S~k Tr
Ans2=|3=|",—,——, 4= —
3’223 4
T 5w T 5% Tn 1l=x
5: 0,_,7[,_ 6: 09_9 5 T, )
L 3 3 6 6 6 6 ]
M @
An&3=[}12[30 1 .2=[60]}’ Ja M
3=[0] 4=[0] t U
h T
1 =[120° 180°, 240°] 2=[0,120°,240°]
Ans4=|.3=1090°120° 240°, 270°] 4=[135°]
5=[0,90° 180°] .6=[60°,90° 120°, 240°, 270°, 300°]
1 5 1 2
.]={—n+2nn,—n+2nn} .2=[—n+nn,—n+nn}
3 3 3 3

Ans3 = 1 5 3 1 3
.3z[—n+2nn,—n+2nn,—n+2nn,—n+2nn} .4:[—n+nn,—n+nn}
2 4 2 4 4
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TrigonometryExercise6 Answers for No.13197
fy @_
T a M
AnS]: ]:[] 2:|:3i|, 5 t U
3=[0] .4=[0] h T
L:) )
T Sm Tn 3n 1l=w
A=10,—" — 2= ) >
33 6 2 6
Tn 1lm i
Ans2=|.3=|0,n,—, 4=|—
6 6 4
T ST n St 7n 3n 1=
5= O,_,TE,_ 6= I 5 ) 5
L 3 3 6 2 6 6 2 6
M @
Ans3:[ 1=160°] 2= [60 ]} |a M
3=[0,60"] .4=[0] t U
h T
1 =[30°150° 270°] .2=[90°,210° 330°]
Ans4=|.3=1[60°90° 270°, 300°] 4=[315]
5=[0,90° 180°] .6=[60°90°,120°, 240°,270°, 300°]

1 5 1 5
A=|—"n+2nn,—n+2nn| 2=|"N+nNN, " T+NT
6 6 6

AnsS = ) 3
d=[2nm,nt+2nm] .4:{Zn+nn,zn+nn}
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TrigonometryExercise6 Answers for No.13907

- M @
A=[] 2= g a M
Ansl = - , 1t U
.3:{g} 4=[0] h T
L:) ) )
T S5t 37 T 57
fr] s
6 6 2 373
n w3t Sn Tn
Ans2=|3=|",—,——, 4= —
3’223 4
T S5n nnw St 7n 3n 1l=w
5= O,_,TE,_ 6= I ) 5 D
L 3 3 6 2 6 6 2 6 ]
M @
Ans3:[ 1=160°] 2= [60 ]} |a M
3=[0,45"] .4=[0] t U
h T
1 =10,120° 240°] .2=[120°180° 240°]
Ans4=|.3=1090°120° 240°, 270°] 4=[45°]
5=10,30° 150°, 180°] .6=10,30° 150°, 180°,210°, 330°]
1 1 5
A=|—"mn+2nm,— Tc+2n7c 2=|"m+nm,-n+nmn
6 6 6

AnsS = ) 5

1 3
.3=[‘n+2nn,—n+2nn n+2nm T n+2nn} .4:[—n+nn,—n+nn}
2 4 2 4 4
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TrigonometryExercise6 Answers for No.13991

Tn
Ans2 = .32{ , T

0
oI 5 nw 2t 4n 3w S®w
.5: O,_,TC,_ 6: _a_a ’ s ’
3 3 3’23 372 3 1]

M @
Ans3:[ I=[] 2130 ]} a M
3=[45°] .4=[0] t U
hoT
1 =[210° 270°, 330°] 2=10, 60°, 300°]
Ans4 =| .3 =[60°, 90°, 270°, 300°] 4=1[45°]
5=[45°90°,225° 270°] .6=[30° 90° 150°, 210°, 270°, 330°]

1 5 1 5
A=|—"n+2nn,-n+2nmn 2=|"n+nn, - T+NT
6 6 6 6

AnsS = 1 1 5
.3:[2nn,—n+2nn,n+2nn} .4:{—n+nn,—n+nn}
2 6 6
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TrigonometryExercise6 Answers for No.14005
Ad=|"T"1 =" a M
~ 6 6

Ansl = i , |t U
3:{2} 4=[0] h T
L:) ) )
n 7n 1l=n i 5n
A=|—— 2=,
26 6 3
nrw 3n 5w T
Ans2=\3=|",—,——, 4=|—
3’223 4
T S5m nnSn 7n 3n 1l~n
'5: 0,_,_,1-[ '6: _7_’ 9 b b
L 6 6 6 2 6 6 2 6
M @
Ans3:[ 1=160] .2=[600]} |a M
3=[22.57,67.5"] .4=[30"] t U
h T
.1=10,60° 300°] .2=[210°270° 330°]
Ans4=|.3=10,180° 210°, 330°] 4=[135°]
5=10,180°] .6=[60°90°,120°, 240°,270°, 300°]
7 11 1 5
A=|-n+2nn,—7m+2nm 2=|"n+nm, - T+NT
6 6 6 6

Ans3 = 1 5 1 3
.3:[2nn,—n+2nn,n+2nn,—n+2nn} .4:{—n+nn,—n+nn}
4 4 4 4
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TrigonometryExercise6 Answers for No.14157

n M @
1=]] 2= ; a M
Ansl = T3 21t |t U
PO
g8 8 6 ) ) _
T T 5™ 2n 4w
']: _’_,_ 2: 0,_’_
6 2 6 3 3
n T 3n Sn Tr
Ans2=|3=|—",—,—, 4=|—"
3’223 4
T S5m nnw Sn 7n 3n 1ln
= O,_,TE,_ 6= I ) 5 s
L 4 4 62 6 6 2 6 1
M @
Ans3:[ 1=[30°] .2=[30 ]} |a M
3=[0,45"] .4=[0] t U
h T
1 =[210°270°, 330°] .2=[60° 180°, 300°]
Ans4=|.3=1[90°120°, 240°, 270°] 4=[135°]
5=10,180°] .6=[60°,90° 120°, 240°, 270°, 300°]
1 5 1 2
A=|"n+2nn,-n+2nmn 2=|TN+nN,TT+NT
3 3 3 3
AnsS =

1 5 1 3
.3:[2nn,—n+2nn,—n+2nn,n+2nn} .4:{—n+nn,—n+nn}
6 6 4 4
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